’° Name:

Date: ] Class Period:___
) Arithmetic Sequences ' ’

In ofher words, you A:Ql 4 or Suidj( OCt  the Same number tg 8etto the next
tevem . '
Thereare . different Ways you can _(uspn ol s a sequence,

2

%

An A Hpedac Sequence is one that has a_Co Mmon
%

h Remréﬁvc Formuja
RULE

A recursive"‘fqnnula finds the next telm ofa

sequence by uélﬁg the _ Rleviony

Explicit Formyl,

An explicit formula uses 4 DM for that
will_ £, €ach term,

,S+ -

25 e
a=_deSired 4 aq
s 7[1 e
%1 = DVRAGUS 4ey a0

Example: Given the Sequence, write the explicit
Ormula +p formula:

RULE 2,8, 14, 20 2,8,14, 20, .

—= Tp = At (n—1)

a“l )

¥ Stmpe, Y =%
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4.2B Explicit and Recursive Equations From Arithmetic Sequences
Find the next three terms O
recursive formula

f each arithmetic sequence, write the explicit and
N
. 9 16,23, 30, 3!

apn= 9+ 71(N-)
91 4%, 5S¢ Explicit: = 4 +7n =1
+ i fon= in+ )
n . o AT
d & tevm — S+ Jeov m Recursive: Ott x| )
Ll,-n = (},n”‘ 4 l
a‘ - el —
—\ . An=3 (=700 1)
- > 1 Explicit: =31 —Tn+7]
- an = -In-t28
~1 Recursive: r-r‘ e
A=A - lm. l
Xpz = o % Ytn )
3. -6,-2,2,6,(8 . \% (@ Explicit: @n = —toavn =4
. %:51%7\}15—:_]
Recursive: a(__,\,,
A= 2y * U‘)
- - =% +3Cn -\
R A e I (o Explicit: - =8« ,?n i
o 3\r‘\ "’\\J
Recursive: -2
2p, -»-»«h ., t+3
an = 12 THN-O)
5. 12, 16, 20, 24, 2% :_j_l_yﬂ EXpHCit T tuh - s
O, ‘—’Elﬂr\ 4-?’
Recursivza’—’j"(_'
a, = S -+
ap= D= 2n—)
6.3, L-1,-3 - } . =4 Explicit: - Z-2n 4D

. - —on + S )
Recursive: o553

A = C&y‘ % - ()/

Ap = Y —>CLh-tD
Explicit: =S -2n v
i 1'~-,>m g
Recursive: & N

wEa,_| — >
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Kuta Software - Inﬁm'te Algebra 2

Name
T
Arithmetic Sequences Date Period____
Deterniine if e Sequence is arithmetic, JIf j¢ is, find the common difference,
| 1) 35, 32, 29, 26, ..
|

2) -3, 23, 43, 63
3) ~34, ~64, -94, —124, 4) ~30, ~40, —s0, -so-,
5) =7, -9, ~11, -13, . 6) 9, 14, 19, 24, .
|Given the explicit formula

il ‘mula _kor an arithmetic sequence f
problem. ]

A Ommon di{Fer gned.
N\
7) a =~11

nd the first five terms and the

term named in the |
d . o
i . - 335 -1y 3¢
Find Find c@; '
Agy=~H+T(3%) A aq = S - 100(39)
Agy = 237 39 = - 33§
4 At s 599
9) d&=-71-21n 11 1
" 10) g == 4=
Findaﬂ ) ﬂ" 8 L
Find a,,
Given ihe first term and the common difference of ap
loplictlormuta. ) &y = a. o (rn oty
11) a =28, d=1p

arithmetic sequence find the first five teymg and the
23’33) '1“; 5551 ¥ 12) a, =-38, d=-100
Uz 2% +1olh —1)

=2% 1t 1on - |0

Jan= (on +i¥ |

poeepi———

13) a,=-34, d =19

14) a,=35, d=4
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